AlIm: To estimate strength of the given oxalic acid in g/L by using approximately
N/50 potassium permanganate as an intermediate solution.

Sunday, 30 August 2020 8:17 PM

Requirements: Standard flask, conical flask, burette, pipette, burette stand,
beaker, wash bottle, spatula etc.

Solutions and Reagents: Oxalic acid, Potassium permanganate and
dilute sulphuric acid.
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Indicator: Potassium permanganate is a self indicator.
Colour Change at End Point: Colourless to pink
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Why potassium permanganate is a secondary standard?

1. Potassium permanganate has some impurities of manganese dioxide.
2. It is unstable in water.
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